DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

11JPCMO1 | JEE PRACTICE QUESTIONS Lo
(2023-24) (TEST-1) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. Planck>s constant (h), speed of light in vacuum (¢)
and Newton>s gravitational constant (G) are three
fundamental constants. Which of the following
combinations of these has the dimension of length?
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2. The physical quantities not having same

dimensions are :

A) speed and (ug ) "?

B) Torque and work

C) Momentum and Planck’s constant

D) Stress and Young’s modules
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3. If the time period of oscillation of a pendulum
is measured as 2.5s using a stop watch with the
leastcount 0.5s, then the permissible error in the
measurement is

A) 10% B) 20% C) 30% D)15%

6(H H60T1 26eTFE0l60T |6M6VE) SMTEVLD 2.55 6T6oT, 0.55
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A) 10% B) 20% Q) 30% D)15%

4. If X=at+bt?, where x = distance, t= time, a and b
are constant then unit of b is
A) KmS B) KmS™!
C) KmS D) KmS?
X = at + bt? eTedrm FLOGTLITL Q6D X = Q&HTEM6VE,
t = &IMEVLD, a DMMILD b Iomniledl eTeoflevL b - 60T 3j6VS
A) KmS B) KmS™'
C) KmS~ D) KmS?

S. A physical quantity of the dimension of length
2
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[c.is-velocity of light, G is universal constant of

that can be formed out of ¢, G and 1S
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6. A physical quantity 'y’ isrepresented by the formula
y = m?r* g 32 If the percentage errors found in
y,m,r,l and g are 18,1,0.5,4 and p respectively,
then find the value of x and p

A)Sand£2 B)4and+3

C) 16/3 and + 3/2 D)8and £2
@@ @uHLwev oemef® y = m? r* g* 2 6T60TM 6uTLL
UL LY SjemellLiL(G&m&I. ym,rl LuOmID g &
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B) 4 LOMHMILD + 3
D) 8 LDMMILD + 2

A) 5 lOMMILD + 2

Q) 16/3 LDMMILD + 3/2
7. The pair having the same dimensions is

A) Angular momentum, work

B) Work, torque

C) Potential energy, linear momentum

D) Kinetic energy, velocity
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C. mlemev ymmev LnMMID CHTESHITL(H 2 HSLD
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8. The period of oscillation of a simple pendulum
is given by T = 2mVl/g, where 1 is-about 100 cm
and is known to have 1 mm accuracy.The period is
about 2s. The time of 100 oscillations is measured

by a stopwatch of least count 0.1 s The percentage
error in g is?

A) 0.2%
C) 1%

B) 0.1%
D) 0.8%

seofl  2agedledt  gemevallMamer G Temeal
T=2mllg 9GWh. @S | - e LHLIY 100 m
DMHMID FH6T HLEOIW FHETemD T mm. 6M6V6)
&evld 2s. 0.1s ISEFRMMeTe] Q& meoor [Blmig S
FHIQHMTIHHTV 100 36M6V6)FHEHEHSHTET &IT6VLN
SjemalL_ LGSR mS!. g 5600155 () 5609160
ANWSHTL(H LlemLp sHeoord:56(h 6Teoflev

A) 0.2% B) 0.1%

Q) 1% D) 0.8%

9. The density of a material in cgs system of units in
which unit of length is 10 cm and unit of mass is
100g. The value of density of material will be
A) 400 units

C) 0.4 units

B) 0.04 units
D) 40 units

CGS BB Wemmuiley e QLIMBerfler Herid
slemall(hld 6v& 10 cm Blemm emall(HD 26V&
100 g. ILIQUMHerfletr L TSHuNer LnGLIL]

A) 400 SV B) 0.04 {6V &

C0) 0.4 96VG D) 40 9V &

10. The density measurement of a cube, the mass and
edge length are measured as (10.00 += 0.10kg)
and (0.10 = 0.01 m), respectively. The error in
the measurement of density is

A) 0.31 kg/m? B) 0.10kg/m?

Q) 0.07kg/m? D) 0.01 kg/m?
ROB HUFSTSHTT  Blewm  LOOID e
WPemMEUI - (10.00 + 0.10) kg, (0.10 + 0.01) m  SY@LD.
IGH&T FEIISHET ILTHFH 560018119607
NemLp 5600188 (b

A) 0.31 kg/m?

C) 0.07kg/m?

B) 0.10kg/m?
D) 0.01 kg/m?

11. The depth x to'which a bullet penetrates a human
body depends. upon (i) coeffeicint of elasticity, n
and (i1) Kinetic energy KE, by the method. find
the formula for x?
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m) () @Qwsds Sudme KE  ep&lweibenm
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12. The vander Waal’s equation of a gas is
(P+a/V?) (V-b) = RT where a and b are vander
waals constant. what is the dimension of a?

A. ML°T B. ML-T™!
C.MLT? D. M'L5T



6UIT600T L_IJ 6UIT6VL6MN &FLO6OTLITLIMeOTS! (p+a/V?) (V-b) =
RT @b@&LD. eumesor_j eumevenv ompdled), a - ulledr
LI LD IT600T 161 85 600 61T 85600185 (b)

A) ML°T B) MLT~'

C) ML5T2 D) M-L5T-2

13. What is the dimensions of AB in the relation
F=A\/x+Bt2, where F is the force, x is the distance
and t is the time?

A) ML’T? B) L '°T2
C)L T D)LT?
F=AVx+bt> ereoTmm &FlDETUTLIQ6L A/B - 6T

LD meooT BIGemeT &eoorsSB (M (F 60T - allemd, x -
QS MEM6EVE] t - &HITEVLD)

A) ML2T= B) L™/

C) L27 D) LT

14. A potential difference V=(100+5V), when applied
across a resistance, gives a current [=(10 + 0.2)A.
What is the percentage error in R?

A) 7% B) 5% C) 2% D) 8%

@M WVasomlse mseEes — V=(100+5V)
eTeor(WSHS CaummT( aUmISLLGIILD QLTS
2 (haum@Llh WleTGeTmL LD 1=(10+0.2)A. 6TeotleL
6iTHemL R 85600185 (HeuB M meor 6l (&5 ML (b
LNemrLp SHevorsH (0.

A) 7% B) 5%

C) 2% D) 8%

15. Suppose refractive index p is given as u=A+B/)\?
where A and B are constants and A is wavelength,
then dimensions of B are same as that of

A) Wave length

C) pressure

B) volume
D) Area

g6l allevsey 6TevorT P LTSI p=A+B/A2 6T60OTM
FOGTUTLLIT  SemallLUu@&SmE. @56
A moib B Lomnled ojemev Herid ereoflev B - ulledr
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CHEMISTRY Q.No. 16 to 30

16. The element Z = 114 will belong to which of the
following family and electronic configuration

A) Halogen family [Rn] 5f* 6d!° 7S? 7P°
B) [Rn] 5 6d'° 7S 7P
C) Oxygen family [Rn] 5f'* 6d'° 7S 7P*
D) [Rn] 5f* 6d!'° 7S* 7P®

FeofllngH et e eTevor 114, Heofln auflens
Sl Lalemenoruiley @& Seofllnld S emLnb Sl eTerT
Q5TE&GH GOHWUDL WHMID ST 6T6V& L [JTeor
Sl6mL0LIL

A) aammevel6oT G GIDLILD [Rn] 54 6d0 752 7P5

B) &MTLIGT Q& TGS [Rn] 51 6d'0 752 7P2

Q) Q,E5MIK6T QS TGS [Rn] 54 6d10 752 7P4

D) emBL_FR260T QHM&GS [Rn] 5% 6d"0 752 7P°

17. In which of the following options the order of

arrangement does not agree with the variation of
property indicated against it.

1) B< C <N<O0 (Increasing 1st Isoniation enthalpy)

i1) [I<Br< CI<F (Increasing election gain enthalpy)

ii1) Li< Na <K <Rb (Increasing metallic character)

iv) AP’ <Mg?" < Na+ < F~ (Increasing ionic size)

A) (1) (11) (i) B) (1) (i)

C) (1) (i) (iv) D) (i) (i1) (iv)
G105 5 600T L alfleans LB SSLILL (B eTerT
& 601061 5 61T ML LI &G 6T
Q&TH & & LI (h6TeT Lievor L] & 61160l (5 1H &l

eTeuaUmM CaumILIRHME?

i) B<C<N <0 (L& 6V 6N Sl 2] W60 LLITE & LD 24, M M6V
gml aurflensuilev)

ii)l<Br< _CI<F  (eTeu&L_[JITeor
goiaifleng uiev)

iii) LixNa<K<Rb(2_8eumas L1 LievorL|eFmieuflemauilev)

iv) APr < Mg?" < Na* < F~ (3jwlenf] serfletT 2_peuere)]
gmiaifleng uiev)

&6 60T6M LN

A) (i) (ii)-(ii) B) (i) (i)
Q). (i) (i) (iv) D) (i) (i) (iv)
18. Tdentify the wrong statement in the following

A) Amongst isoelectronic species, smaller the
positive charge on the cation smaller is the
ionic radious.

B) Amongst 1isoelectronic species, greater the
negative charge on the anion larger is the ionic
radius.

C) Atomic radius of the elements increases as one
move down the group of the periodic table.

D) Atomic radius of the elements decreases as one
moves across from left to right in the second
period of the periodic table.

LD &8 600TL6UMMI6L 2_6T6IT &6UMITET Jo (DM
A) 2CEFIT 6TeLE LT IT60T1 8 2y Wi6vfl & 6rflev Gemmibs

GribleTaHemneml 26l GrIledr
Iweofluiledr 2_peuera] WS TUN[HE G LD.



B) G mMeTeL& LMool jwienfl&Herfley H s
aHFleTHFemnemU 2 emLW T TLdleor
3jweofluiledT 2_(HeU6Te] H &HINME @) [H& G LD.
Q) eufln auflend 9L Lauemevor uilev GO (BB S
FOTHEF QFNID  CUTH I sieder
2_(Heueney H&fl&GLWD.

d) seofln auiflend 911 Lalenevoruilev @ L LA BHS!
QIVIDMHEF GFaID GCUTEH  3jsmiailer
2_(HEUETE LI LILIQUIMTS @60 mU|LD.

19. Amongst the element which one many have
highest ionization energy?
A) [Ne] 352 3P? B) [Ne] 3S? 3P?
C) [Ar] 3d'°4S? 4p* D) [Ne] 3S% 3P!
FECLD Q&M &S LILIL(H6T6T &6of ] nmisserfler 215 &
W6l lWME @D QLMHMemev QLIMHMI6TET &eofllolh
A) [Ne] 352 3P3 B) [Ne] 352 3P?
C) [Ar] 3d'° 452 4p4 D) [Ne] 352 3P’
20. Which of the following oxides is not expected to
react with NaOH?
A) B0, B) BeO
C) SiO, D) CaO
GEFMIQWILD emamL [Tm&eng () L-6oT ellemeor L fluimg
& & (b
A) B,O,
Q) Sio,

B) BeO
D) CaO
21. Identify the correct order of size of the following
A) Ca¥ <K'<Ar<S* <CI
B) Ca*>* <K' <Ar<Cl <S8*
C)Ar<Ca? <K'<Cl <S§8*
D) Ca>* < Ar<K"<Cl < S§*

3jwieoflulledr 2_(HeUeTem AL QUITHS S,
goiaiflenguiev Frflwmeor aflengenuwl
CHIHAS0D

A) Ca’* < K* < Ar<S* < CI-

B) Ca’* < K* < Ar < CI- < S=

C) Ar < Ca** < K* < CIF < §*

D) Ca?* < Ar < K* < CI- < §*
22. An atom has electronic configuration 1S* 2S? 2P¢

3S? 3P°¢ 3d’ 4S? you will place it in

A) 5th group B) 15th group

C) 2nd group D) 3rd group
152 252 2P6 352 3P6 33 452 6T60T M 6T6VESL_IJ 60T
Slemollemll 2 el Ul Seoflinh Seofln aulflens
| LealemenoTuiley @L LD QLIMMIETET Q& TE&HS3)

A) 5 gl QsTE&H B) 15 UGl QHTSH

02 ag OsM&H D) 3 augl QFTGH

23. The first ionization potential (in eV) of Be and
B are

A) 8.29,9.32

B) 9.32.9.32

C) 8.29, 8.29

D) 9.32, 8.29
Be LOMMID B &7 (PSVMeUG IWeoflulmd @D
2b,MHME0l6T GLILY

A) 8.29, 9.32

B) 9.32.9.32

C) 8.29, 8.29

D) 9.32, 8.29

24. Which of the following sets has strongest
tendency to form anions?

A).Ga, In, Tl B) Na, Mg, Al
C)N,O,F D)V, Cr, Mn
FEC - QETH&SLILLB6TeT  &euflnmigserfleor

QBTG ereflgns @ FlleT < wevflserms

[NTMILD 60Tl IS 6T
A) Ga, In, Tl
ON,O,F

B) Na, Mg, Al
D)V, Cr, Mn

25. Pauling’s electro negativity values for elements
are useful in predicting
A) Polarity of the Molecule
B) Position in the periodic table
C) Dipole moments
D) Co-ordination number
LI 6y 60) i &) 601 556011 L0 M1 & 61T 60T 6TV & L[ 60T
Salfseremln IS LN BHE BT Mgl
A) G&FITLOMIG 61 60T (LD 6D 60T6Y M1 S5 6V
B) &evflLD alfleng 3L L_6uemevor Uiley
IeMLDHSI6TET @ L LD
C) 2|6M)600T6) 6T600T
D) @@ pement SGLILIST medt
26. The ionization of hydrogen atom would give
rise to
A) Hydride ion
B) Hydronium ion
C) Proton
D) Hydroxyl ion
AL [FE260)60T | WLI6fIWMEGLD UM HemL LG
A) emamLemT{H <weof]
B) emam LG meotlWiLD =uleof]



C) UG mL_L_edr
D) emamL_JTm&&6v 3juleof]
27. One of the characteristic property of non-metal
is that they
A) Are reducing agents
B) Form basic oxides
C) Form cation by gaining electron
D) Are electronegative elements
2IGeVITEH IS 6Tl 60T 6ot LILIL L LievorL|86rfl6L 6pedTml
A) (H&G WD L6
B) &M Q,&6MEFL M LOMMILD LI6OoTL
Q) 6TEL&L_ITMedT BT L SH 6T epevld GmiiyLdleor
SjWeoflWms L0mmigHev
D) 6T6LEL_[JIT60T &HEUIT & 60T6M L0
28. The element with atomic number 118, will be
A) Alkali metals
B) Noble gas
C) Lanthanoides

D) Transition elements

2|l eTeool 118 08 Q&MevoT(Hl6meT  S6uf oL

THHMSHLISI?
A) &M 2_GeuM&H LD
B) LDIF& QUITU|E 6T
Q) 6VITIH G 60)60T(H) & 6T
D) @ emLIbleneus & 6oflLnmigs 6T

29. Which of the following represents the. correct
order of increasing electron gain enthalpy?

A) CI<F<O<S B) O<S<F<Cl
C) F<S<0<Cl D) S<O<CI<F
L9 edT6u (1h 61 60T6U M Ml 6L 6T6V & L_[T 60T &HeUl

et meuLIuilev gmiauflenauiley 2 eiter & iflwimeor
aflens

A) CI<F<O<S B) O<S<F<Cl
C) F<S<0<(l D) S<O<CI<F
30. Which one of the following ion will be smallest
in size?
A) Na* B) Mg*
OF D) O*

F il 2_(HeueTemneUs Q& Tevor(H6iTerm & uleof1?
A) Na* B) Mg®*
QF D) 0%

| MATHS Q.No. 31 to 45 |

31. Letn(U) = 500, n(A) = 150, n(B) = 200, n(ANB)
= 100, then find n(A'NB")

A) 200 C) 150
n(U) = 500, n(A) = 150, n(B) = 200, n(ANB) = 100,
6760160 N(A'NB") & TevoTS.

A) 200 B) 250

B) 250 D) 100

C) 150 D) 100

32.If two sets A and B are having 49 elements in
common, then the number of elements common
to each of the sets A xB and B X A is

A)49°  B)50 C) 2% D) 49

A, B &T60TM @B &H6OOTRIGET 49 2 MILIL|S&H6D6T
QUITEI6UTE Q85 TeooT(Hl6TeTEl 6Tedl 160 A x B LOMHMILD
B x A 6T60TM) & 600T MhI&6IT GLIMSI6UTSH 68 MeooT (h 66T
9_MILIL|&6rfl6dT 6T6v0T600 1856008

A) 492 B) 50 C) 2% D) 49

33. In a statistical investigation of 1,003 families of
Kolkata, it was found that 63 families had neither
a radio nor'a TV, 794 families had a radio and
187 had -a TV. The number of families in that
group having both a radio and a TV is

A) 36
C) 32

B) 41
D) None of these

&H6055 5 malleverer 1,003
T(H &SI L LeTerfledlaury
63 & DLIMIS 6T QUMTQeTmedGWIm
QSMEEVEHS ML P GUIT QUMM & e 6Lem6V.
794 GOGHWLUMBISET  eumQermedemwlud, 187
& B\ LDLIMI S 6T Q& MemEVE ST Fl6vIWI LD
QUMM (BB 60T [ 6760116V QB MVGHSTL G
LOHMID  euTQermed  @uevoreml WD QUMM
S GILDLIMIG6rl60T 6Tev0T600T] 86055

&GO humIserflev
E-YRVE5)[))

A) 36 B) 41
Q) 32 D) @6UMMIET 6TSI6|LD &) 6V6D6V
34. Let R be a relation defined as aRb if |a—b[>0.
Then the relation R is
A) Reflexive

C) Transitive

B) Symmetric

D) Equivalence

R ereorlgl |a-b|> 0 eTeofleu  aRb  eTeoT
QUMTUWMIGSLILIMGSMSI. R 6T60TLISI
A) BO&HLBS QBTLIL

B) FDEET Q&ML
Q) &LUUS Q&TLITL
D) FLOMEOTHOSTLITL



35.Let A and B be two sets containing 3 and 2
elements respectively. Then the number of
subsets of the set A x B, each having at least four
elements is

A)22 B) 32 C) 33 D) 34

A oOmIh B eTeID  @(@H 556007 MG 6N 60T
&guuuasaﬂa'ﬂ 6T600T 6001 | 8560 85 PeMBLI3 LDQ')QJL'D
2 6T60r&s. @Gmmmg,ul_a:m 4 2 mIIL|I&66TE

Q & mevoT L AxB —60T o | & 6007 Ml & 6rfl6or
6T600T6001 | & 60 &
A) 22 B) 32 C) 33 D) 34

36. Let R = {(1, 3), (4, 2),(2,4),(2,3), 3, 1)} be a
relation on the set A={1,2,3,4}. The relation R is

A) Function B) Reflexive

C) not symmetric D) transitive

A={1234} eTedT) &eooTSHH60T SSHMe0T QGSTLITLY
R=1{(1,3), (4 2),(2,4), (2,3), (3 1)} e16018.R 6T60TLIS!
A) &L B) &7&L_(H
Q) FLOFFT 3j6V6V D) &LuLIL]

42. The domain of the function f(*) = % is
A) (-0, ©0)/[-1, 1]

B) (—0, ©0)/[-2, 2]

C) [-1, 1]U(—o0, —2)U(2, )

D) None of these

f(x) = L- |X|| 6160t FMFLI60T FMLIGLI0

A) (=00, )/[-1, 1]

B) (-0, )/[-2, 2]

Q) [-1, 1MU(=o0, =2)U(2, )

D) @&UMMIGT 6TSI6|LD &)6V6DI6V

38. Thedomainofthe functionf(X) =1 -y1-y1-x’
1S

A) (_OO: 1) B) (_19 OO)
C) [0, 1] D) [-1, 1]

f(x) =vV1-y1-y1-x* eTedrm FMTLIeT &FMyLssLh
A) (oo, 1) B) (-1, o)
O [0, 1 D) [-1, 1]

39. The domain of the function f(x) = Sm;(%f) 1s
A) [2, 3] B) [2, 3)
O)[1,2] D) [2, 1)

f(x )—% 6TedTm FMFLI6dT FMFLGLID
X
A) [2, 3] B) [2, 3)
O, 2] D) [1, 2)

40. Range of 4sin! (1 fxz> is

A) (0.5 B) [0, 7]

C) [_T”%] D) [0, 2]
4sin” (1 fxz - &1 efF &SI

A (0] B) [0,

o7 D) [0, 2n]

41.1f domain of se¢” (5255 s [(ap)U(r,5)] then
the value of [3a. + 10(B+y) + 219| is

A)21 B) 22 C) 33 D) 24

(2
i (5){-)‘1(-3)'66[' gnjusd [(o,B)U(Y,8)] ereflev
|3+ 10(B+y) + 21| -6tr H LY

A) 21 B) 22 Q) 33 D) 24

42. Abeasetsuchthat A= {1,2,3,4,5,6} andR be
a relation on A-such that x + y = 7 then relation

R is
A) Reflexive

C) Transitive

B) Symmetric
D) Equivalence

A={1,2347506} et SHoTHEH6L QHTLIL R
GTEOTLISI X +y = 7 6T60fl6V R eT60TLIG)

Ay BDE&ELDHE QML
B) FIDEFET QML

Q) &sLUUS Q&MLITL
D) FLOMe0TS QGMLTLY

43.1f f : R — R be defined by f(x) = \/liixz , then

(ffH(x) =
_ X 2x
A) J1+x B) Ji+x
X X
C) vi+ax? D) /3x+1

6T60T

X
J1+x2
QITUWMISSLILGSRMS! 6revflev (fofof) (x) =

f: R > R eerm emjy [(X=

X

2x
A) V1+x’ B) v1+x?
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44.1f f+2f(L)=3x x#0 and s={xeR:f(0) = (-0}
then s
A) contains more then two elements
B) is an empty set
C) contains exactly one element

D) contains exactly two elements
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45.Let A=R—-{3},B=R—{l},and letf : A — B
be defined by f(x) = X:% Thenfis
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